Direct or Indirect Consequences of the Great Depression?

Definitions for Social/Cultural, Political and Economic

Social / Cultural – This term refers to events, issues, and trends that affect society. It is a broad category that has to do with how people relate to each other and takes into account people’s roles in society. For example, national radio.
Political – This term mostly refers to issues of government in societies. It includes the type of government in place, as well as a country’s relationship with other countries in the world. For example, Canada patriating the constitution.
Economic – This term refers to systems of trade, production and consumption of goods, and money. It also is related to employment and incomes in society. For example, Crown Corporations.
Definitions For Consequences

Consequence: That which is produced by a cause; a result of actions; a web of causes and effects; the relation of effect to cause.  

Direct Consequence: A consequence that follows closely after an event, is the direct or logical result of an action or event, or the immediate results of a situation.  
Indirect Consequence: A consequence of an event that emerges as a result of some other consequence or several consequences.
Activity Worksheet

Classify the following consequences as social/cultural, political or economic.  Then decide if the following events are indirect or direct consequences of the Great Depression in Canada.  Use your knowledge of the event and consider the criteria for direct and indirect consequences when making your decision.  Explain why each event was a direct or indirect consequence.
Bankruptcies, factory closings and production cutbacks brought about high unemployment and reduced wages

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Canada's resource-based industries such as mining, forestry, and agriculture were very hard hit by shrinking markets and by drastic drops in prices

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________

RB Bennett’s Conservatives win 1930 election defeating Mackenzie King’s Liberal government  

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain

_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Decrease in immigration during the Great Depression

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Drought in the Prairies leads to the Dust Bowl

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Creation of Relief Camps for the Unemployed

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Increased popularity of alternative political parties and ideologies including the Social Credit Party in Alberta, the Co-operative Commonwealth Federation (CCF), the Union Nationale in Quebec and the Communist Party of Canada

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Falling birth rate during the years of the Great Depression

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Federal Government accepts responsibility for social and economic well-being of Canadian people

Can this consequence be categorized as Social/Cultural, Political or Economic? _____________________

Direct Consequence or Indirect Consequence?  Explain ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Mackenzie King’s Liberals defeat RB Bennett’s Conservative government in 1935 election

 Can this consequence be categorized as Social/Cultural, Political or Economic?_____________________

Direct Consequence or Indirect Consequence?  Explain ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Assessment Rubric

	Categories
	Incomplete/Does Not Meet Expectations

1
	Approaching Expectations

2
	Meeting Expectations

3
	Exceeding Expectations

4

	Decisions About Indirect or Direct Consequences or are Historically Plausible


	Most decisions are not plausible
	Several decisions are plausible
	Most of the decisions are  plausible
	All decisions are plausible

	Decisions About Direct or Indirect Consequences Are Supported With Logical Explanations


	Few or no decisions are explained or are incomplete; criteria ia are not used
	Some explanations are logical and based on criteria
	In most cases, the decisions are supported by logical  explanations based on criteria

  
	All decisions are supported by logical explanations based on criteria 



	Explanations Are Supported With Historical Evidence
	Explanations include no historical evidence
	Some explanations are supported with historical evidence
	In most cases, explanations are supported with historical evidence

 
	All explanations are supported with historical evidence
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